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1. Let 𝑆1 and 𝑆2 are the remainders when a polynomial 𝑥3 + 2𝑥2 − 5𝑎𝑥 − 7 

and 𝑥3 + 𝑎𝑥2 − 12𝑥 + 6 are divided by (𝑥 + 1) and (𝑥 − 2) respectively. 

If 2𝑆1 − 𝑆2 = 10, find the value of 𝑎. 

2. Factorise: 16𝑥3 − 2𝑦3 

3. If 𝑥 + 𝑦 + 1 = 0, prove that 𝑥3 + 𝑦3 + 1 = 3𝑥𝑦 

4. Simplify: (𝑝 + 𝑞 + 𝑟)2 + (𝑝 − 𝑞 − 𝑟)2 

5. If 𝑥 + 2𝑦 = 10, 𝑥𝑦 = 15, find 𝑥3 + 8𝑦3. 

6. Factorise: (𝑥2 − 4𝑥)(𝑥2 − 4𝑥 − 1) − 20 

7. 𝑅1 and 𝑅2 are the remainders obtained when 𝑥3 + 2𝑥2 − 5𝑘𝑥 − 7 and 

𝑥3 + 𝑘𝑥2 − 12𝑥 + 6 are divided by (𝑥 + 1) and (𝑥 − 2) respectively and 

if 2𝑅1 + 𝑅2 = 6, then find the value of 𝑘. 

8. Factorise: (𝑎2 − 2𝑎) − 23(𝑎2 − 2𝑎) + 120 

9. Using factor theorem, factorise: 𝑥3 − 2𝑥2 − 5𝑥 + 6 

10. Evaluate 101 × 99 using suitable identity. 

 


